




In the given sentence a word has been emboldened. 

Select the best alternative for the bold word from the 

given options. If none follows, select option 5 as your 

answer. 



This is significant(A) because in the government(B) 

system, alocating(C) budgets is the first step towards 

getting(D) any piece of work done.

1. B

2. D

3. A

4. C

5. No error



The rebound(A) in global carbon emisions(B) toward the 

end of last year is a stark warning that not enough is 

being done to accelerate(C) clean energy transitions(D)

worldwide.

1. A

2. B

3. C

4. D

5. No error



According to the second official quoted above, 

authourities(A) are focusing(B) on initial hitches(C) of 

rolling out the drive to the first of the general 

population(D).

1. A

2. B

3. C

4. D

5. No error



In the following sentence, four words are given in 

bold out of which one word is misspelled. Find the 

misspelled word.



We need to envisage(A) cyber deterrence(B) on the 

lines of strategic(C) deterrence to dissuede(D) 

cyberattackers.

1. B

2. D

3. C

4. A

5. No error



The given sentence is divided into four parts that are A, B, 

C, and D. Choose the part that contains an error as your 

answer. If the sentence is error-free, mark E i.e. 'No error' as 

your answer.



Even if every medical students (A) in the country today 

became a (B) psychiatrist, we do not have enough (C)

people to solve the mental health crisis. (D) No error (E)

1. A

2. B

3. C

4. D

5. E



The World Bank is lending up (A) to $1 billion to help India 

with (B) preparedness for future pandemics as (C) well as to 

strengthen it's health infrastructure. (D) No error (E)

1. A

2. B

3. C

4. D

5. E



When I went wine tasting (A) with my friends the other (B) 

day I had the most tastiest (C) wine that I have ever had. (D) 

No error (E)

1. A

2. B

3. C

4. D

5. E



If the students had finished (A) their assignments on time, 

(B) the teacher assigned less homework (C) for them to do 

over the weekend. (D) No error (E)

1. A

2. B

3. C

4. D

5. E



In the following question, some of the words have been left 

out. Read the passage carefully and select the correct answer 

for the given blank out of the five alternatives given in the 

questions that follow:



Anurag Thakur along with his 31-member parliamentary panel has ______ (A) the chief 

executive officer (CEO) of Twitter, Jack Dorsey, to appear before it to discuss the 

“safeguarding of citizens’ rights” on social media. It _______ (B) that this move is linked 

to Twitter deleting a number of “suspicious” accounts. We can scrutinise expenditure of 

political parties on social media, but can we scrutinise the money spent by individuals 

______ (C) of political parties? These nebulous connections within the architecture of 

social media platforms have enabled political parties to meet the dual goals of profitability 

and popularity. The focus is restricted to the promotion of content that generates more 

user engagement, regardless of how _____ (D) the content may be. What we tend to 

forget is that social media is not an ideology or an idea or a moral institution, but a 

product built by companies to make profits. ______ (E) as democratic, the operating 

principle of these platforms is not democratic,  but commercial and is a marketplace of 

views.



Anurag Thakur along with his 31-member parliamentary 

panel has ______ (A) the chief executive officer (CEO) of 

Twitter, Jack Dorsey, to appear before it to discuss the 

“safeguarding of citizens’ rights” on social media. 

1. Summoned

2. Reprimand

3. Cajole

4. Prosecute

5. Intimate



It _______ (B) that this move is linked to Twitter deleting 

a number of “suspicious” accounts. 

Which of the following words most appropriately fits the 

blank labeled (B)?

1. Have speculated

2. Had been speculating

3. Has been speculated

4. Has been speculating

5. Had speculated



We can scrutinise expenditure of political parties on 

social media, but can we scrutinise the money spent by 

individuals ______ (C) of political parties? 

Which of the following words most appropriately fits 

the blank labelled (C)?

1. For the behest

2. Of the behest

3. In the behest

4. At the behest

5. On the behest



The focus is restricted to the promotion of content that 

generates more user engagement, regardless of how _____ 

(D) the content may be. 

Which of the following words most appropriately fits the 

blank labeled (D)?

1. Innocuous

2. Detrimental

3. Deleterious

4. Inflammatory 

5. Nocuous



______ (E) as democratic, the operating principle of 

these platforms is not democratic,  but commercial and 

is a marketplace of views.

Which of the following words most appropriately fits 

the blank labeled (E)?

1. Masquerading

2. Elevating

3. Arduous

4. Nostomania

5. Distorted



In the following question, a part of the sentence (a word or 

phrase) has been highlighted in bold. Four different ways of 

writing the word or phrase have been given in the options (1), 

(2), (3), and (4). Find the correct replacement of the given 

bold word or phrase. If the given word or phrase is 

grammatically correct, then select option (5).



The small island is composed almost entirely of stone columns 

formed due to constant crustal movements such as earthquakes 

and volcanoes and occurring during the Mesozoic age.

1. and which occurring

2. which occurred

3. that occurred

4. and that occurring

5. No improvement needed



Plants are pollinated by both bees and birds while bees can 

pollinate about forty flower heads a day, the Cape Sugar bird 

in South Africa can pollinate up to three hundred flower 

heads a day.

1. And when

2. Because while

3. And while

4. But while

5. No improvement needed



The lake was really captivating because of thousands of ice 

bubbles shaped like pancakes caused by bacteria at the 

bottom of the lake eating organic matter and excreting 

methane.

1. And causing from

2. Causing from

3. And caused by

4. Causing by

5. No Improvement Needed



Scientists fear that global warming can made ancient viruses 

reappear again as previously inaccessible regions hosting 

dormant viruses become accessible for mining and industrial 

activities.

1. Making

2. Would have made

3. Will have made

4. Could make

5. No improvement needed



Thermal inversion is a phenomenon whereas the temperature 

in the air increases at higher places.

1. And in which the

2. Where of the

3. That the

4. where the

5. No improvement needed
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